= A
N = 0] &F AF S & AN A
20138 &= 20l A B Y EESAN ~ EESAD
EX: AEsSA
MM HMEQlmpt DESH(YBr2 2N /BN )
. MBS Jlgt X4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HEES AW 5,890,406 4,125,445 1,764,961
2 22,468
2 912,000
< 130,877
Al 4,825,061
HEolZmpl NEo (et 2 A /B A ) 5,786,439 4,003,315 1,783,124
2 22,468
2 912,000
= 130,877
Al 4,721,094
HE3 Jlgt X4 3,269,878 726,223 2,543,655
2 912,000
Al 2,357,878
HEJ|E L MAHEH 22 699,600 719,413 N 19,813
201 et d| 189, 120 147,120 42,000
01 AF 22| H| 136,040 94,040 42,000
O1.48t==2H| 128,000
-AEI|2EPRFA LBtx=SH| 3,000,000 3,000
A= S/W P 125,000
pPC 2 S/W 200,000& *400copy 80,000
CAL 2Ol &l A 45,000& *1,000copy 45,000
03.82d8 ¢ 3,000
-S23 AEBXA0 HAXNUYF 3,000
ANEESHE=E 50,000 x5t =2+2E+13] 500
° A E2ZEH| 50,000& x10¥ *13] 500
ANEE2H d54+E
10,000& x20 S & x5} S 25 2,000
O5.2&4| 5,040
-HABSIAIEFR 222X 24!
7,000 x5H x12L x 128 5,040
02 B32ZH| 53,080 53,080 0
O1.2Z22=2L Al 6,000
-3|oAal ADIEHE EXMZ 500,000& x12& 6,000
O3. Al & &H| = XYl 47,080
-2EH2E2 AEH SRAES
1,350,000& *700CH *4%=*1.1 41,580
-T2 SANES 500,000 *500CH *2%=*1. 1 5,500
202 o4 | 6,300 7,680 A 1,380
01 2Ll 6,300 7,680 A 1,380
OXFESAIY /882 =80
60,000 x5 H «3 x7 3| 6,300
207 SO0 78,800 28,800 50,000
02 & AHJH EH| 78,800 28,800 50,000
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M. (3H) - HEAY - B2 ﬁlf& HDS2
OCCTVE st 2 A A48 22l
440,000,000& *1.29/100 5,676
03 A& 2 0HH] 6,361 0 6,361
OCCTVE S 2 MAEH 2= AlA20HI
2,524,000,000& *0.36/100%70%<& 2+> 6,361
NEg 397,729 1,017,362 N619,633
2 22,468
Al 375,261
29 2 22 322,170 933,509 A611,339
B2 | 193,984 152,948 41,036
01 At 22l bl 12,524 9,030 3,494
=Y 9,500
~HEHR AREA 42| 2,000,000%! 2,000
~HHYP0B BRE WAYHOT P
150, 000& *50H 7,500
5.2 &t 3,024
SHETBAALY ARE FALILX B4
7,000& x3H 122 x12& 3,024
=294 181,460 143,918 37,542
1.2Z2222HA 40,200
-22I0lSAAMEA 22 40,200
C SUAES ASAHHAZS 200,000& +12& 2,400
2202 (ARS)2=2 150,000& = 12& 1,800
=hes 23 3,000,000& x12& 36,000
O3. Al &8 &HI S X bl 141,260
-HAEEMAAYE R4 29,720
HXESAMAIAE S/W
164,718,000 *8%x 1. 1 14,496
© HMXEMAIAE H/W
139,996, 0003 *8%x 1. 1 12,320
C MXEMAIAE WAS
33,000,000 *8%=*1.1 2,904
A ZEIAIAE(S/W)SRE =
29,336,890 *8%=*1.1 2,582
-2ct2 SANELX(ENEM, XA 22, oo
2l) 120,347,700 %8%x1. 1 10,591
-DBE & Storage S X2 4 (SANAR X Z&H)
317,612,000 *8%=*1. 1 27,950
-DBEHAHAIAE SX 2
96,161,800& *8%=*1.1 8,463
-HStEAIAE 9,217
H/W 80,181,800& *8%*1.1 7,056
° S/W 24 ,550,000& *8%*1.1 2,161
-|P-Store Ol& 3t AMAE RIE4 5,600
* H/W 12,000, 000& *8%=*1. 1 1,056




fAE

(=]
o
Ha: Fol
X

29 2dd &t (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
*S/W 51,630,000 *8%+1.1 4,544
-2l A A (FMS) S X 2 %
38,000,000 *8%*1.1 3,344
“AAHROERY RAE > 11,768
* H/W 133,718,000& %8%*1. 1 11,768
-22/02AMHIA AIAE RS 3,942
* H/W 10,080,700 *8%=*1.1 888
°S/W 34,700,000 8%+ 1.1 3,054
-USB BotAIAE SN2+ 6,715
*H/W 40,700,000 *8%+1.1 3,582
° S/W 35,600,000 *8%*1.1 3,133
—d 2l AIA" H/W RXE
11,000,000 8%+ 1.1 968
-HEASAIAE (quik) X222l
1,700,000& «12& 20,400
202 044l 3,240 4,320 A1,080
01 SLHOYI 3,240 4,320 A 1,080
OHFEZEFFZSAIY =AW HI
60,0003 *3H »32 63| 3,240
207 Ao EH] 42,000 90,000 A 48,000
02 & &HIH I 42,000 90,000 A 48,000
OALZERN JIsiHd & A 10,000,000& 10,000
OBSIIEFAIAE (1 ,11) WASZLIHE AIAE
=5 16,000,000& *24! 32,000
403 A X EHHS =0l A 82,946 266, 241 A 183,295
02 BII2SOICHEHCHE AFR I 82,946 266, 241 A 183,295
OANZFHEFEZEE HLEH SA2e
79,368,220 * 1Al 79,369
OREZO RAE=> 3,577,000 14| 3,577
NZPHBEEDNESFE(EX) 75,559 83,853 A8,294
= 22,468
Al 53,091
201 L Er2 A | 75,559 83,853 A 8,294
= 22,468
Al 53,091
01 At2 22l bl 75,559 83,853 A8,294
06.9xt= 75,559
“AZ R EEEEAAE S EH WA
57,765,000 57,765
= 18,443
Al 39,322
“AlZ7 Mol=2HAH 2= 17,794,000& 17,794
= 4,025
Al 13,769




EX: AEsSA
MM HMEQlmpt DESH(YBr2 2N /BN )
Sl XFe Y2at CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
NS0 AL 577,268 665,470 N 88,202
& 78,956
Al 498,312
dEs0lS 29 63,109 77,933 N 14,824
201 LBt ]| 18,309 31,933 N 13,624
01 AP 22| H| 5,960 15,184 N9,224
O1.det=2H| 5,400
“H2S0S YLET LB
3,000,000& 3,000
IISHEMESY HALDE 7Y
100, 000& *4JH A~ 63 2,400
03.2g89x4 560
-HE35I0lS T2 322N DF2AL =E
70,0003 x1H x4 Al 2t%23] 560
02 =224 H| 12,349 14,749 AN2,400
O3. A2 &#HI KX HI 12,349
-A230I2 EHO0IX KA+ 12,349
S0lx=0ts 39,600,000 *8%x*1. 1 3,485
JIHEE OIS 32,089,000 *8%x*1. 1 2,824
M| sHArE DS 39,000,000 #8%*1. 1 3,432
MA=2FERLC20IS 29,636,000 *8%x*1. 1 2,608
301 et A= 4,800 6,000 A 1,200
10 HALAHI B A2 4,800 6,000 AN 1,200
OXFBE30IS ASE AN X329 &HAH0H|
60,000 x3% x4 OF S *23] 1,440
O¥ES0IS Festa 20133 AF 24 04 HI
60,000 x3H x4 OS2 1,440
OXFBS0Is ZE2 )82 WEEHAHY|
60,000 x 1 +4Jl| O} S#2L x4 3] 1,920
403 XX SRS K20l & 40,000 0 40,000
02 2II2S0CHeCH& A I 40,000 0 40,000
O&FES0I=2 EHOIXN &Hoje & 824
20,000,000 x2A! 40,000
HdEstus 29 190,438 230,347 A 39,909
201 2Et24Hy| 158,938 188,347 N 29,409
01 AP 22| d| 118,720 139, 390 N 20,670
O1.98t=2H| 45,820
-AESNRAE &9 U824 2,000,000& 2,000
-ABIEES WU 2U(H - 23)
6,000 * 130 «2 U A+ 10 15,600
-Z2® I2E WSLW PY
6,000 x20H x4 W A 10 4,800




2N
X ZH -
L= B
el

=N
olmpt DESH(
=0 M85t

o
M- o9 (B H) - MEAY - BAS %Eﬁ HR=2
-ZUZE0ISASE DR 2 Y
6,000 x120H 102 7,200
-FOUHEEIEAE DEE S/WLI A2007)F
el 200, 000& *3copy* 144 A~ 8,400
~&dA & Y 0lA 5,000,000& 5,000
-H3 AQUEES NRE RO 42
110,000& x12& 1,320
-SLR22ANKE SANAANAE A 42
35,000€ x12& 420
“HESNSE WLl UX
30,000 «30 A x12€ 1,080
03.289¢4 72,900
-ANBI Bt NSF2AA =S 64,500
ot
30,000 *2H «2 Al 2tx3H D H 152 x 10 54,000
OF 2+t
35,0002 +2% *2 Al 24+ 17§ H H »152 »52 10,500
22 DS VAR
35,000 x5 %2 Al 2Hx24 0l BF 8,400
02 22244 40,218 48,957 N8,739
O1.2Z22=a2L Al 14,400
-AOIEESINSEE AHUGHE AIE 2
600,000 23| & +12& 14,400
O3. A2 &HHI KX HI 25,818
-WE|E CUI|(PC)R X 22l
1,350,000 x250CH*4/100 13,500
-I=E2 HYMH ¥ S/WS X E 2|
52,470,000 *8%*1. 1 4,618
-G ZZHH X234 7,700
ANOEESNESE(HI HEY)
700,000 ~4CH 2,800
S0HsS HFZ0|SAL (ST HEY)
700,000 =7 CH 4,900
405 XHA&HF S HI 31,500 42,000 A 10,500
01 XML 2 FF S| 31,500 42,000 A 10,500
OSHES HEB0ISAE ZEH M
900, 000& *35CH 31,500
HBOolSAMEXNE(EX) 251,888 284,261 N32,373
o= 60,500
Al 191,388
101 e1214| 249,488 281,261 N31,773
= 60,500
Al 188,988
04 J|I2ZtHIZ22NEES 249,488 281,261 N31,773
OXNAXHISI2ZAH (G M) B XA 249,488
-0l | 39,920 x20H 263! 209,980
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A 3E2SA
HE: HPTmet DESHUNIIHT/AUHT)
Sl XFe Y2at CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 60,500
Al 149,480
-usSH & 2-AlHI 3,000 x20Y% 263 15,780
A2 J2RE3 209,980,000& *11.3% 23,728
301 et d =S 2,400 3,000 A 600
10 #AtAHI 2 A3 2,400 3,000 A 600
ONAHLSAAHQAHNH ML) WEEIE 0l
60,0003 x20H x 1 *23] 2,400
dBsosz A (Ex) 66,833 72,929 A 6,096
< 16,456
Al 50,377
307 gl2tol & 66,833 72,929 A 6,096
< 16,456
Al 50,377
02 RIZHE A E X 66,833 72,929 A 6,096
O3L30tg T2 g2l 29
1,270,000& 4 H «12& »90% 54,864
< 16,456
Al 38,408
C4EY IR 3 60,960,000& *11.3% 6,889
O&Es0ts Z2Od#2e|A &EHZ
1,270,000& 4 H 5,080
FE30tE dEFLs(EX) 5,000 0 5,000
< 2,000
Al 3,000
307 glz2+ol & 5,000 0 5,000
< 2,000
Al 3,000
02 tFAEX 5,000 0 5,000
O&E=si0E F2dH &&3&4H 5,000,000& 5,000
< 2,000
Al 3,000
M A 2HF 459,582 473,702 A 14,120
FMOIE 28 & 22 459,582 473,702 214,120
201 Let24d] 165,242 153,782 11,460
01 AP 2teltl 10,920 12,924 A 2,004
O1.det=2Hl 8,400
-EHOIX ¥RFX==2Hl 1,200,000& 1,200
-REZLYMOIE(EHM S)EHO0X &8
475,000& x12& 5,700
~AAE HOIH 0| X (AIT-4) P
150,000& 104 1,500
O5.=2 &l 2,520
-EHO0IXZe OIA2RA =4
,000& x3H 10 123 2,520
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A 3E2SA
M HP0ITel NTSH(UAUDTHE /AT
Chelr B AHIA 2435
SA - ZE-B(EN) - NRAY - B S il &t o il
02 2=22Z 4l 154,322 140,858
O1.322ILHA 62,972
-ZEEHOIX 6z 4,100,000 x12& 49,200
-UIMS(SEHAMXAEZ 800,000& »12& 9,600
-&H X3 110,000 128 1,320
-SHAAMEIA MEE 1,400
20 40,000& =104 400
st=2CHel 100,000& 104 1,000
-2ty EPC ZUAMEZ 60,500 «2CH <122 1,452
O3. A& ZHl s Xt 91,350
~AX (L4, L2) RXNE=
56,980,000 *9/12*8% 3,419
-5 RALE> 33,000,000 %8% 2,640
-AEsE RAE 38,000,000 *8% 3,040
-HUEEXY £24 RAES
29,400,000 x8% 2,352
—dEI| RANES 30,000,000 *8% 2,400
—“HAIAE FHIFA 24l
114,886,200 *8% 9,191
-8 Otast EFHE RAES
17,370, 0003 *8% 1,390
—-EMC CX300 A EclXl SXNE+
37,000,000 =8% 2,960
—-EMC NS120 A2 £l X RXNE=
67,396, 000& *8% 5,392
—-EMC VNX5300 A2 E2I Xl SANE=+
92,000, 000% *7/12%8% 4,294
—HAANAE SANES 77,170,000 *8% 6,174
-SAEIEAY 2 T2 KX EH
200,000& 1201 & 2,400
-Al MG 2 FAOIE RAIE S
139,260, 000 *8% 11,141
-ZEAl HE 2HY FMOIE RXNES
88,920,000 *10/12*8% 5,928
-S3 AMOE RNES 36,600,000& *8% 2,928
220 MAMOIE RAE(HALE)
350,000 1201 & 4,200
-AIOIH S &AOIE SAE=
45,200,000 *8% 3,616
-AHEeHER2E |RAE= 32,560,000 *8% 2,605
-AlBl E-Mai (28t ZE)AAE RXE =+
58,000,000 *8% 4,640
-EMS 24 S+ 220,000& 1201 & 2,640
-HeIBERE EX 224 |RANES
200,000& 128 2,400
—-E-book AlAE FXIE =+ 40,000,000 *8% 3,200
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SN HESAD
HE: HPTmet DESHUNIIHT/AUHT)
ol ANEIA BHS (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
“HAAIARD SHOIXN 9 RAE
200,000& 128 2,400
202 o4dl 3,240 4,320 A1,080
01 = LH o4 1l 3,240 4,320 A 1,080
OoelgHad =0
60,0003 *3H 3 63 3,240
207 O H] 187,100 148,800 38,300
02 & AR b 187,100 148,800 38,300
OAlglzetel mar2a MilA M3
55,0003 x40 2 £t 123 26,400
OAl & =2 SHOIX 220 &AI2H HA M|
A HB(AME A2, 22 =M, AHY L)
20,000,000 20,000
OWaAZZ28 HM0IE 2,200,000 2,200
OdFAg 88 =8 Agent 78
8,500,000 8,500
OAMZ A & AGHI|28 SHOIX JHEH
70,000, 000& 70,000
O@otast AlAE S/W 2Od0lE
30,000,000& 30,000
OMESFIZoHLY & e 30,000,000& 30,000
301 et a3z 3,000 4,800 A 1,800
12 JIEE 43 3,000 4,800 A 1,800
OQHY s & AMOIHLE R+ =2 &F
-2 1,500,000& »23| 3,000
405 THobH S 101,000 162,000 A 61,000
01 et EFFHSHI 101,000 162,000 261,000
ODNS&EZ MY 22 20,000, 000& 20,000
OJoIts & HelHEXH dMEANAY &
31,000,000& 31,000
Ogotast AIAE MH 50,000,000 50,000
ESH8I|E &= 846,238 985,252 A 139,014
SAIE 29 307,078 374,568 AB7,490
201 ¢er24| 287,298 289,848 A 2,550
01 At 22l 10,040 16,590 6,550
O1.LEr==ZH| 5,000
—SOXNFAHRFE =EH] 4,000,000 4,000
SloA SHIHSS 428 PY
1,000, 000& 1,000
O5.2&Hl 5,040
SSANE YRET 4
,000& x6H 10 x 122 5,040
02 2324l 277,258 273,258 4,000




A 3E2SA
H: ¥Polmet NESH(YBtT T /LB A)
Sl ESAIIE &5 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O1.2Z22LHA 235,722
-HESIHMEZ(AIU)
21,0003 #1193 & 128 1.1 32,987
-=0E MEIEAEE2 (M)
3,628,800& x13| & 128 1.1 47,901
-YotE S Ol = 154,834
== 5,200& x143] &« 12 874
SR = 1,000& x2008 128 2,400
= 35,0003 x143| & 128 5,880
00D AtEE (AIU)
120,000 603 & 123 86,400
*DOD AFEE(2H,5)
130,000 384! Wt A+ 128 59,280
O3. A& & Hl =Xt 41,536
-neEd |FRANE=> 250,000,000 *5% 12,500
DNEFEIUSANES (AL, IFA, 235])
1,000,000 1,000
—GHRYANAE RRES 62,600,000 *8% 5,008
SE2NH RS (ESA394)
2,000,000 = 1CH 2,000
-S& . VORH FUES(UHELFSA)
5,000,000& 5,000
-JIEHEH 2 d2 RS2 5,000,000 5,000
-OUXE &30 mXNE=+ 120,000, 000& *4% 4,800
-&3 DAL KRB 44,550,000 *5% 2,228
-WED QHE(GIEAAHFE L) 4,000,000 4,000
202 odl 6,180 6,720 A 540
01 = LH o4 1l 6,180 6,720 A 540
OsSaXd SRFA0HYI
60,000 *5H 32 x53] 4,500
OH=EE ZESUIA AESH BAER 0l
20,000 1P +7L =123 1,680
401 AIEHI L 2 CHYI 5,000 2,000 3,000
01 A& HI 5,000 2,000 3,000
OFUSHEZ =68 L MILE(2F At L)
1,000, 000& 53] 5,000
405 TtabF S| 8,600 76,000 AB7,400
01 AL EFSFHSHI 8,600 76,000 AB7,400
OURXNEZE & IPEFU (ML DEUA)
250,000& »20CH 5,000
OZAIESEI Y (AS&EE) 300,000 »2CH 600
OS2 DA FAMEH(ASHBAE)
1,500,000& »24! 3,000
HYSUY 2F 519,560 594,934 AT5,374




2S4D
Holmet NEs (33 / LA Y)
BEMIIe =25

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 Lt 466,560 456,934 9,626
02 =224l 466,560 456,934 9,626
O1.2Z2SZHA 389,427
-HAESNE Sl 389,427
° WAN Metro 1OM(E - S 7 &)
870,000& *23] & x12& %1.1 22,968
° WAN ATM 4M S8 2 (S S29)
448,000 *293] &4 x 128 »1. 1 171,495
° WAN ATM 2M 3l & 2 (D] EFARES A 22)
385,000& #2235 &+ 12& *1.1 111,804
° WAN PCB M E2 SIHZ (JIEFAFSE & 1404
) 450,000 *143] & 128 *1. 1 83,160
O3. A€ ZHI =Xt 77,133
-N/W&Hl S X 2=t 600,000,000 *8% 48,000
-NWSHEHE JSAARE X2 2H|
66,000,000 *8% 5,280
-IPTAIAE S X2 ==l 30,909, 000& *8% 2,473
-2SStAH FAESH(2H)
108,000, 0003 *8% 8,640
-2 S3EH RAESH(AEL, 2 SHS)
273,000,000 *8%x7/12 12,740
401 Al HIZ 201 8] 8,000 8,000 0
01 A& HI 8,000 8,000 0
QUI0IH S d2E(28 AL, 8HS)
2,000,000 43 8,000
405 RHoHF S HI 45,000 130,000 A 85,000
01 AL EZFH S 45,000 130,000 A 85,000
O88s, 28 =25 2w (poe2dport)
3,000,000 = 15CH 45,000
SHEXNSE ZHINLYTY S AL 19,600 15,750 3,850
308 AXIEH SOl A 19,600 15,750 3,850
05 HXHMARE = 19,600 15,750 3,850
OsHEXNS ZUHAMNAXNY FZAH 2E
= 19,600, 000& 19,600
HE 28 235,744 135,306 100,438
< 51,921
Al 183,823
H A 108,915 51,713 57,202
101 @124l 26,568 18,077 8,491
04 JIZHHZ2Z2XNSE S 26,568 18,077 8,491
OMEH ZAL & SHZAMER EX 5,194
v ral:] 38,8803 x1&H » 120 4,666
-AHEE J22RE3 4,666,000& *11.3% 528




A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
?e?: SAHE 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O - HMxzgds&= A 11,933
] 44,670 4 H 152 x4 3] 10,721
A2 J&22Y3 10,721,000 *11.3% 1,212
02013 E & Al A3 Z AL 9,441
-E A2t el Xt 46,790 +5H 142 3,276
-gfEXA 44 6703 «1H 21 939
-9 2 HWaR 42,6703 10«10 4,267
-AHEE JI2RE3 8,482,000& x11.3% 959
201 Let24d] 68,347 26,916 41,431
01 At 22/l 67,347 25,916 41,431
O1.Let==ZH| 65,667
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